fastmount.com

STRATLOCK SL RANGE

SL-SMT1 INSTALLATION GUIDE

SL-SMT1 Stratlock® Sidemount
- Installation with PanelSafe Easyfit

| USE WITH: INSTALL WITH:
PS-S150E PS-S150E ) IR

INSTALLATION STEPS Installation with PanelSafe

o Insert SL-SMT1 into SL-RLE o Click into place e Use #8 screws to fix SL-SMT1 into position

% >

o Pass the PS-150E or PS-S150E through e Clip panel into position
SL-SMT1 and attach to panel with appropriate
Stratlock Range clips already installed

=

Stratlock SL-RLE shown.

4 Subject to change without notice.
¥ PROUDLY DESIGNED IN NEW ZEALAND Version: SL-SMTT - 10/23. Copyright © Fastmount Ltd. IFASTMOUNT



fastmount.com

STRATLOCK SL RANGE

SL-SMT1 INSTALLATION GUIDE

SL-SMT1 Stratlock® Sidemount
- Suspension of SL-RLE with M10 threaded rod hanger

\ USE WITH: INSTALL WITH:
M10 threaded #8 screws
rod hanger
&
INSTALLATION STEPS using M10 threaded rod hanger
o Insert SL-SMT1 into channel of SL-RLE, e Click into place e Use #8 screws to fix SL-SMT1 into position

logo side facing up

e Tighten top nut to lock SL-SMT1 in place
and continue panel installation according
to Stratlock Range installation guides.

Stratlock SL-RLE shown.

4 Subject to change without notice.
¥ PROUDLY DESIGNED IN NEW ZEALAND Version: SL-SMTT - 10/23. Copyright © Fastmount Ltd. IFASTMOU NT



